Tuesday, April 30

| RACE 1 | Volt 2140 | RANK |
|---------------|------------------|-----------------------|
| Only ranking. | | A: 6-10 |
| | | B: 2-1-3-9-4-5 |
| | | C: 7-8 |

Top 4 : **6 - 10 - 2 - 1**

| Quinella: | Trifecta: | |
|---------------------|-------------------------|--|
| Horses: 1, 2, 3, 10 | 1:6 | |
| U-Horses: 6 | 2: 1, 2, 3, 10 | |
| Total: 4 x 30 = 120 | 3: 1, 2, 3, 4, 5, 9, 10 | |
| | Total: 24 x 2 = 48 | |
| | | |

| RACE 2 | Auto 2640 | RANK |
|--------------------|------------------------|------------------------------|
| | | |
| Only ranking. | | A: 8-9 |
| | | |
| | | B: 5-3-1-6-10-4-7 |
| | | c |
| | | C: |
| | | |
| | | |
| | | |
| | | |
| | | Top 4 : 8 - 9 - 5 - 3 |
| | | |
| Quinella: | Trifecta: | |
| Horses: 8, 9 | 1: 8, 9 | |
| U-Horses: | 2: 1, 3, 5, 8, 9 | |
| Total: 1 x 30 = 30 | 3: 1, 3, 5, 6, 7, 8, 9 | |
| | Total: 40 x 2 = 80 | |
| | | |

Tuesday, April 30

| RACE 3 | Volt 2140 | RANK |
|---------------|------------------|-----------------------|
| Only ranking. | | A: |
| | | B: 2-4-6-5-3-1 |
| | | C: |
| | | |

Top 4 : **2 - 4 - 6 - 5**

| Quinella: | Trifecta: | |
|--------------------|--------------------|--|
| Horses: 4, 5, 6 | 1:2 | |
| U-Horses: 2 | 2: 1, 3, 4, 5, 6 | |
| Total: 3 x 30 = 90 | 3: 1, 3, 4, 5, 6 | |
| | Total: 20 x 2 = 40 | |

Tuesday, April 30



RACE 4

V64-1

Volt **2140**

8 Con Padre tried his luck in the V75 last time and faces easier opposition here. Should have a very good chance here but might get a tough journey. Not a banker for us. **10 Springdayfree** scored a nice victory last time and is in top form for the day. **9 Mayhem Mary** faces quite tough conditions money-wise with this handicap, but she is used to face tough opponents and should be considered early in this field. **6 Mr Fantastic** is a quick starter and can lead this for a long time.

| _ | | | | |
|-------|-------|------|-------|--|
| Top 4 | | - 10 | _ 0 _ | |
| | r . U | - 10 | | |

RANK

B: 9-6-2-3-7

RANK

C: 8-12-6-3

B: 5-4-2-10-11-9-1-7

A:

A: 8-10

C: 1-5-4

Quinella: Horses: 6, 9, 10 U-Horses: 8 **Total: 3 x 50 = 150** **Trifecta:** 1: 6, 8, 9, 10 2: 6, 8, 9, 10 3: 6, 8, 9, 10 **Total: 24 x 2 = 48**

RACE 5

V64-2

Auto **2140**

5 Nathalie Wood is our pick in an open race. The mare is not reliable, but she could find the lead here and she might run without shoes for the first time too. **4 Churchill Face** has shown good skills but he hasn't won yet. Seasonal debut and should be considered directly. **2 Sheispropulsion** makes here third start so far and the debut behind the gate. She had a lot of energy left last time. **10 Summerparty** is speedy and interesting in the debut for a new trainer.

Top 4 : **5 - 4 - 2 - 10**

Quinella: Horses: 2, 4, 10, 11 U-Horses: 5 **Total: 4 x 40 = 160** **Trifecta:** 1: 5 2: 2, 4, 10, 11 3: 1, 2, 4, 7, 9, 10, 11 **Total: 24 x 2 = 48**

Tuesday, April 30



RACE 6

V64-3

Volt **2140**

10 Corazon Bar is undoubtedly the horse with the best capacity. He has not started since December, but showed directly in the debut for Lugauer that he does not need a run under his belt. **6 Franklin Zet** has looked nice at the end and should be ready for a good effort. **7 Lorens Flevo** has also got a break from competing and is now allowed to compete barefoot, which benefits him. **9 Bravo Sabotage** was fully approved in the comeback last time after a tough journey.

| RANK | |
|-----------------------|--|
| | |
| A: 10-6 | |
| | |
| B: 7-9-2-4-1-3 | |
| | |
| C: 5-8 | |
| | |

Top 4 : **10 - 6 - 7 - 9**

Quinella: Horses: 6, 7, 9 U-Horses: 10 **Total: 3 x 50 = 150** **Trifecta:** 1: 10 2: 6, 7, 9 3: 1, 2, 3, 4, 6, 7, 9 **Total: 18 x 2 = 36**

RACE 7

V64-4

10 Ytowns Magnifik started the year with three straight wins and

impressed a lot, but last time he wasn't nearly as good and gave up in the end. However, the horse has good capacity for this class and will

now run barefoot for the first time. **5 Wanderlust Pellini** is the main challenger and from the lead he will not be easy to beat. **4 Twenty**

Dollar was good as second last time. **6 Faetter Filur** is consistent in his performances and will now be driven with the American bike.

Auto **1640**

A: **10-5**

B: **4-6-1-9-3-7-8**

RANK

C: **2**

Top 4 : 10 - 5 - 4 - 6

Quinella: Horses: 5, 10 U-Horses: **Total: 1 x 200 = 200** **Trifecta:** 1: 5, 10 2: 5, 10 3: 1, 2, 3, 4, 6, 7, 8, 9 **Total: 16 x 2 = 32**

Tuesday, April 30



RACE 8

V64-5

Au

6 Nilla Lane showed nice speed last year as a three-year-o now making an interesting seasonal debut. She is fast from and has a good chance if the would find the lead. 5 Global De was definitely good as second from the front two starts back a similar performance, she will certainly fight for victory. Greenwood has very good speed. 9 Muro Beach Pellini is dr an American bike for the first time - watch out.

| uto 2140 | RANK |
|-----------------|------------------------|
| | |
| old and is | A: 6-5-10-9 |
| the start | |
| elightful | B: 1-11-7-8-4-3 |
| and with | |
| 10 Lotte | C: 2 |
| iven with | |
| | |

Top 4 : 6 - 5 - 10 - 9

Quinella: Horses: 5, 6, 9, 10 **U-Horses:** Total: 6 x 30 = 180

Contender. 3 America Dream can do it tough. Possible.

Trifecta: 1:5,6,9,10 2:5,6,9,10 3: 1, 5, 6, 9, 10 Total: 36 x 2 = 72

| RACE 9 | V64-6 | Auto 2140 | RANK | |
|--|-------------------------------|--|-------------------------------|--|
| 10 Global Difference | comes from a second spot i | in the V75 and had | A: 10 | |
| also shown good form | before that. He faces quite e | easy opponents and | | |
| • • • | he should have a good chan | | B: 1-4-3-7-2-9-12-8-11 | |
| , , | | | | |
| | • • | | L: 6-5 | |
| also shown good form with the right journey, win of the year. 1 Hipst number last time and i | | easy opponents and ice to score the first second from a poor a. 4 Apollo Prophet | | |

Top 4 : 10 - 1 - 4 - 3

Quinella: Horses: 1, 3, 4 U-Horses: 10 Total: 3 x 50 = 150 Trifecta: 1:10 2:1,3,4 3: 1, 2, 3, 4, 7, 9, 12 Total: 18 x 2 = 36

Tuesday, April 30

| RACE 10 | V3-3 | Volt 2140 | RANK |
|---------------|------|------------------|-----------------|
| Only ranking. | | | A: 3-2 |
| | | | B: 5-1-6 |
| | | | C: 4-7 |
| | | | |

Top 4 : **3 - 2 - 5 - 1**

| Quinella: | Trifecta: | |
|---------------------|--------------------|--|
| Horses: 1, 2, 5, 6 | 1: 2, 3 | |
| U-Horses: 3 | 2: 1, 2, 3, 5 | |
| Total: 4 x 30 = 120 | 3: 1, 2, 3, 5, 6 | |
| | Total: 18 x 2 = 36 | |